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General Instructions :
(i) All questions are compulsory.
(i)  The question paper consists of 31 questions divided into live sections A, B, C,D and

E. Section-A comprises of 4 questions of 1 mark cach, Section-B comprises of 6
questions of 2 marks each, Section-C comprises of 8 questions of 3 marks each and
Section-D comprises of 10 questions of 4 marks cach. Section E comprises of two
questions of 3 marks cach and 1 question of 4 marks from Open Text theme.

(iii)  There is no overall choice.
(iv)  Use of calculator is not permitted.

WUE-37 / SECTION-A

I WA 10 4 ¥ AT W 1 3§

Question numbers 1 to 4 carry one mark each,

I FIY o @ y = 3, ¥ wehfa W@ ga fag A e € 3 7= 1
Find whether line represented by y = 3 passes through arigin or not.

TE Ve H W9 w1 e 270 vfe fam 81 ARk wam gan e p feet aw sme wma T a1
2, @ @ A W I aF wiem 3wy ¥ fafau

The cost of petrol in a city is T 70 per litre. Find a linear equation in two variables where y
represents number of litres of petrol consumed and ¥ x is lotal cost.

T 19 T9R¢ foraat 719 150° A (Faa TR i Wan 1 germm ) o 1
Construct an angle of measure 150° (using ruler and compasses only).
319 WA F & A0 6 cm & 130 91 A 2 om FFR 3 foFe 7 77 wag &2 1

The edge of a solid cube is 6 cm. How many cubes of 2 cm edge can be formed from this cube ?
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@us-4 / SECTION-B

AR s 108 TREF 255 T

i bers 5 to 10 two marks each. . ] y
gu;;hﬂﬁ?ﬁ!mmg, c;bﬁ;mﬁ Acall;r);:aﬁt D @ Bt 9 A g9 R g¢ampCA & GG ETF
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-D.
In the given figure, QO is the centre of the circle

passing through the points A, B, C and D and
DC is produced lo a point E. If ZBAD =60 find £BCE and £BOD.

A i B
&’i %
}) ¥ .
k ( \: |
5 \n / ’L
\___\J ,
U %amglmsuunaﬂlaﬂmwunmtuaﬂmaﬂm 2

Eﬂ?mﬁl‘jﬂaﬂm-lﬁcmz
F &2 fa & S ol & Qe @1 HTIE WA F

ateral triangle of area 4 J3 em? shares same base with a square. What is the area of

An equil
square ? Find the ratio of area of triangic to that of square.
N 1° . 2
<R 3 e @ 55 W GE F A 7, T F W W@ g 27— F T w0 R
Hifaa
'0

Draw an angle of 55° with the help of o protractor. Then, construct an angle of 27 5. using

compasses,
FAHN SNUN T T 61 AT 216 7 o €1 42 sar 1 5 9 om @, 1 ¥iF 3 3@ 7@ 2

Hifau

The volume of a cone with circular base is 216 wocm’. I the base radius is 9 ¢cm, then find the

height of the cone.
a uw faam 1200 a1 IoTen 141 Frgd gfonm e @ - 2
/ fem : 455, w2 745

wl& gftom F afyswm wm @tfe)

A coin is tossed 1200 times with the following outcomes
Head : 455, Tail : 745
Compute the probability for each event.
);5 T 921 %1 HHE i Wifgwdr 53% & T WAl F 3_EE €1 F NifgEw Jra Fif )
Probability of success of an eventis 53%. Find the probability of failure of this event.
@UE-| / SECTION-C

W HE 11 ¥ 189 WAF ¥ 397% §)
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Question numbers 11 10 18 carry three marks each

yf 30 YaF wrir
*wmmﬂ::@am.h«ammhgmﬁmzm.mm,m 3
2 |mﬁuammﬁmﬁhqﬁlmwaummﬁ t
Draw the graph of the linear equat i

: ion whase solutions .
coordinate and twice of y-coordinate i are represented by the points whose sum of x
t
this graph and the axes. inate is always equal to 2. Also find the area of the trian gle formed by

12 f:g(-Lal?mm'tarimmt?ﬁﬂf«z’fawfmmmaﬂﬁm‘ 3
ow man 1
/6 now Y lines can pass through the point (-1, 3). Determine the equations of any two of these

qm%amaaﬂzmuﬂ‘ﬂqaﬁIMamﬂmﬂwmmmaﬂmm 3
aﬁﬂ{},\ﬁ%t = F = W fafew)

Draw a line segment AB=12 cm and by ruler and compasses, oblain a linc segment of length
-:—AB. Werite steps of construction.

14 AB3RCD T& g0 W Q wuiw Siard § N &= % favia 330 38 vow fomm € 5 AB=24 am 3R 3

CD=10cm ! 3 S1a1 AB F2 A5 cm # g0 W &, @ 51 CD #1 39 ¥ = A g0 7 ;i

AB and CD are two parallel chords of a circle lying on the opposite sides of the centre such
that AB=24 cm and CD =10 em. If the chord AB is at a distance of 5 cm from the centre, find
the distance of chord CD from the centre of the circle.

15 qmag\jam&s%fampaafnqsmavqﬁézm?amﬁ3
ar (APSA) X ar (SQAR) =ar (APAQ) X ar (ASAR) 81
S 4R
=

- -
: el
s ’

RV
Diagonals PR and QS of quad rilateral PQRS interact eac
&AQA R) =ar (APAQ) xar (ASAR).

h other at A. Show that ar (APSA) x ar

ol
I\\.\
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)' /, __{,‘.\:-‘ A} | 7 zgl 3
Dl e T 7 T ST 8 Y S 3057 e
6 T

\f is
arca of each ha
d into two equal halves.

It the curved surface
A spherical ball is divide S y ) s
56.57 cm?, find the volume of u,““ o i : artana ' TR forw @ o :
3.;112“:&_4[} r"‘aaaﬁ?ﬁﬂm%mﬁ |

17 T

w9A € sfrzqzsaiana.x-shsaﬁ'-rﬁf%mrrmaq

- - — dia M - - - l¥ o= —_— (] - n]‘—!l .
0 ] l} 1 ] ]- H 'l l 5 l‘ I'lal', 12,6, 'l. R '. b l, ;l .l
] ] « b ’ £, 0, ’ ) 5 lﬁ " 2 4

3, 16,
16,5, 9. 8. 6. 15, 18, 25.

Construct a frequency

}, L . E s 1N ! mg
l ] > ' h f " T T l .‘h » 1 h-. “ t
table or the o awin Marks t IALILINY NV 'l stu (‘I“\h a test us
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i : being 4 —8 (8 not included). )

equal class intervals, one of them ]/6, ’1_',, }‘ 1 F: W

x}s,gd,yz,1;&,1’.324,17,;,2%74.5.1;,17{,1 ,1,4.;{;’,,?,,%714,;[2/, . 4 £

We T i |

3l ¥ o ¥ A 20 faenfefdi gra (100 9 A ) W farw g 3 R R T €

75, 69, 88, 55, 95, 88, 73, 64, 75, 98, 88, 95, 90, 95, 88, 44, 59, 67, 88, 99.

¥ el & murs iR My J| g

The scores of an English test (out of 100) of 20 students are given below :

75, 69, 88, 55, 95, 88, 73, 64, 75, 98, 88, 95, 90, 95, 88, 44, 59, 67, 88, 99, 0 E\.? ]\q

Find the median and mode of the data. Y
W@Us-T / SECTION-D

W WE1 19 ® 28 ¥ YA & 4 37F §)

Question numbers 19 to 28 carry four marks each.

w/ Frefafes witel % ste w 6 aera vie ™ WA :x~y=0,x+y=0,x+2=0. 4
F @ R} fon dewe 3w i)

Draw the graphs of the following equations on the same graph sheet :
¥=y=0,x+y=0,x+2=0.Also, find the arca enclosed between these lines.
m«waaﬁ@mmtrzeﬁahfaé;fmqmﬁmﬂe—m'%amw%mwﬁﬁﬂ 4
F & Afafa go &) ﬂﬁmﬁ@qmﬁ?fﬂmﬁmﬁtfwzzywwﬁﬁﬁm EE)
HHY F W= FA A @& o arfww [afue ) ram smera \it @ifa)

A lending library has a fixed charge for the first three days and an additional charge for each

day thereafter. Amita paid Z 27 for a book kept for seven days. Write a linear equation which
satisfies this data. Draw the graph for the same.

faz wifay f g9 ¥ fedt wm a0 2 W siafea s 36 =19 3R g9 F fw wm 9 foa R W 4
fag W sfaf@ Fw &1 g @ &

Prove that the angle sublended by an arc of a circle at the centre is double the angle subtended

by it at any point on the remaining part of the circle
.ABCD U& 31 ®1 il AB, BC, CD 3R DA ¥ A-fag wI: B, F, G 3R H &1 3fz 4
ar(EFGH) =16 cm? &, M ar(ABCD) T4 Fifau |

2

G .
D____ weplivas wiayll
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H o [
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A “'“'[:_- TR

ABCD s a reclangle. E, F, G and H are mid-po; i
‘ , F, g puints of sides AB, BC, CD and DA res i
1{; nr(l:FGH); 16 cm?, find ar(ABCD), B Seapestivil,
] L‘

———
N — e
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Construct a right triangle whose base is 12 cm and sum of its hypotenuse and other side is 18
TTAER AR |
=i F1 7 om B 9@ aviiasR F201 §

' W A TF w=A
ﬁmllmmaﬁ@ﬁmW?m#mmﬁ@mmwﬁaﬁﬂ?
On his birthday in the month of
bucket with base radius 21 cm

bowl of radius 7 cm to the po
were served the soup

]anua?ry, Harish distributed soup. He had it in a cylindrical
and height 98 cm. He distributed the soup in a hemispherical

or people and also gave a blanket lo them. How many people
? What value do you learn from Harish's act ? >

E%%ﬁiﬂiaﬁﬁmizoom x 50 cm x 100 cm €1 %% UF 4m =4 1 Zven v 39 26 Il
& YLTa A%l A T )

{\ metallic box is in the shape of solid cuboid having dimensions 200 cm x 50 em x 100 am. It
1s recast into a solid cube. Find the difference of surface arcas of two solids.
26

TF AT F1 T TS AAFA 154 cm? 1 T F A Y AEwd, T gEiE S 55 i £
AT T I T FIA )

The curved surface area of a cylinder is 154 cm2. The total surface arca of the cylinder is three
times its curved surface area. Find the volume of the cylinder.
27

/ frfafea afee o wa & 40 faofeid 3m = & e 1 38 (km ) z900 @ 2-
" T (km ¥) | faaidd #1 wen
0-5 5
5-10 11
10-15 1
15-20 9
20-25 1
25-30 1
| 30-35 2
wfgwm 7@ S & agsea 0 ™ faod =1 w R Zd:
(@ 35km@ A %
(b)  10-15km 31
() ®9 ¥ FW 25km ¥
(d) 1525km@ = &
The following table gives the distance (in km) that 40 students of a class have lo travel from
their residence to their school:
Distance (In km) No. of students
0-5 5
5-10 11
10-15 1
15-20 9
20-25 1
25-30 1
30-35 2
Find the probability that randomly choosen student lives al a distance of :
(2) more than 35 km.
(b)  10-15 km.
(<) atleast 25 km.
Page S of 6
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{d) in Intween 15-25 ki,

)I/ = el % frag, G Qi 24 (gl o) a0 e i ;
TR W 400 [So0- e [0 (e o
— 50 femo o (ko [eo | 1000
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B T O O AT 2
Hem
For the lollowing talde sonstract a frepuency il th hislog
) W ¥ o ey [uilypon [with hinkogram) .
Cost of it Tdm- TR TFTTR I T8 J-.:'n RETT )
(in®) 500 fom_ [72m Jwa | e 1)
No of | 17 2 0 1 7 |5
------ ——edd

WO -w/SECTION-E (M 9% /Open Text)

(5w gffrva @ d b owfer laun @) s sETEel TH Trav4 X e iimm 2
(* Flease ensure thal apen tead oF the given theme is sopglicd whil this puestion paper. |

fawa : wal ) [aeqs dbnal w1 @ = fulon
Theme @ Solving Mystery of messed up lelds.

T F EA § W R S b2 @ e wa ok it wm afrafea ifam

Krishna's field has anghes i the eatio of 23200 Caloulate all the anghes of his Deld

30 fag Mfam & Hum & wa & e @ 4 s g

Prove that some of angles ol Krishina's field ane 360

1

fag Ffam fF dIFT F Ja ABC T 0 F o g F opur feaEd v | w4
& gl ¥ wabmm we R

Prove that four triangle formed by joining, in pairs, the mid-point of three sides of Oonkar’s

field ABC are congruent to cach other.
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